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INFORMATION REQUESTED BY

CANADIAN RADIO-TELEVISION AND TELECOMMUNICATIONS COMMISSION

Q.
In the response to interrogatory The Companies(CRTC)27Apr01-802, the Companies stated that there is no need to reduce the mark-up to remove contribution towards the difference between embedded and current costs.  The Companies further stated that such a reduction would lead to competitive inequity and would hinder the development of facilities-based competition.

a)
The current imputation test and the possible modification to the test set out in Decision 2001-238, incorporate, for essential bands, a component for the difference between local loop embedded costs and current costs, through the use of tariff rates for local loops.  For non-essential bands this component is excluded as the test relies only on current costs.  Provide the Companies' comments, from a competitive equity perspective, as to why pricing of local loops provided to competitors should include a contribution to the difference between current and embedded costs whereas pricing of the Companies' local exchange services in non-essential bands should not be required to include any contribution to the difference between current and embedded costs.

b)
Provide, for the year 2001, the revenue reduction that would result if the mandated mark-up of 25% for all competitor services subject to this mark‑up had been reduced to 15% effective 1 January 2001.

c)
Provide the information requested in part b) above solely for local loops.

A.
Pursuant to the Commission's ruling dated 8 August 2001, the Companies are providing, on the public record, the following supplemental information.

a)
In imputation tests, it is important to include essential facilities at tariff, rather than at cost, to prevent competitive inequity towards CLECs.  By their very nature, essential facilities must be obtained by CLECs from the incumbent.  If incumbents could include these facilities at incremental cost, while CLECs had to pay incremental cost plus a markup, a CLEC could end up with higher costs of providing the total service, even in situations where it is the lower cost provider for everything other than the essential facilities.  

The situation is different for non‑essential facilities.  In such situations, CLECs have the option of obtaining the non-essential facilities from the incumbents or from another source or through self-supply.  Again, this follows from the fact that the facilities are non-essential.  The incumbent is only one supplier of the facilities in question.  This has two consequences.  

First, a CLEC may find sources for the non‑essential facilities, e.g., self‑supply, whose costs are higher than the incumbent's costs but lower than the incumbent's tariff rates.  In such cases, the incumbent may have lower end‑to‑end costs than the CLEC, but may be forced to have higher prices, if the imputation test included tariff rates rather than costs.  Under such circumstances, the incumbent will suffer from an artificial competitive disadvantage.  

Second, incumbents and CLECs must both recover their embedded and fixed and common costs from the totality of their services.  Under the present regulatory regime, a CLEC is free to lower its prices as it wants on certain services.  Its only constraint is that it has to recover its fixed and common costs and its embedded costs from the totality of its services, not from any particular service.  By contrast, including non‑essential resources at tariff instead of cost in the incumbent's imputation test will constrain its pricing flexibility and put it at a competitive disadvantage relative to the CLEC.  Rather, the incumbent should be free to recover its markup where it can, as long as it does not price below incremental cost.  

For these reasons, competitive equity requires the inclusion of non‑essential facilities at cost, rather than cost plus a markup, in the imputation test.

b) and c)

For each Company the annualized revenue reduction that would result if the mandated 25% markup for all competitor services subject to this markup was reduced to 15%, effective 1 January 2001 is provided below.  In addition, the revenue reduction that would result if the mandated markup for loops had been reduced to 15% is also provided below. 


2001 Revenue Reduction

($M)

Company
Competitor Services
Unbundled Local Loops

Aliant Telecom
6.2
.08

Bell Canada
13.5
1.5

MTS
Note
.04

SaskTel
.2
.01

Note:
MTS does not have disaggregated Competitor Services Revenue detailed information. 
